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QUESTION 1

An administrator tests a new Application and Device Control policy. One of the rule sets being tested blocks the
notepad.exe application from running. After pushing the policy to a test client, the administrator finds that notepad.exe is
still able to run. The administrator verifies that the rule set is enabled in the Application and Device Control policy. Which
two reasons may be preventing the policy from performing the application blocking? (Select two.) 

A. The System Lockdown policy includes notepad.exe in the whitelist. 

B. System Lockdown has been removed from the client. 

C. The Client User Interface Control is set to Client control. 

D. The rule set is in Production mode. 

E. A rule set with conflicting rules exists higher up in the policy. 

Correct Answer: AE 

 

QUESTION 2

An administrator is designing a new single site Symantec Endpoint Protection environment. Due to perimeter firewall
bandwidth restrictions, the design needs to minimize the amount of traffic from content passing through the firewall.
Which source must the administrator avoid using? 

A. Symantec Endpoint Protection Manager 

B. LiveUpdate Administrator (LUA) 

C. Group Update Provider (GUP) 

D. Shared Insight Cache (SIC) 

Correct Answer: B 

 

QUESTION 3

Which feature can be configured to increase or decrease performance of scheduled scans? 

A. scan frequency 

B. CPU throttling 

C. heartbeat interval 

D. tuning options 

Correct Answer: A 
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QUESTION 4

A financial company has a security policy that prevents banking system workstations from connecting to the internet.
Which Symantec Endpoint Protection 12.1 protection technology will be prevented from working on the company\\'s
workstations? 

A. Insight 

B. Application and Device Control 

C. Network Threat Protection 

D. LiveUpdate 

Correct Answer: A 

 

QUESTION 5

Which port is used by default for replication between sites? 

A. 2967 

B. 8014 

C. 8443 

D. 9090 

Correct Answer: C 
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